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The company makes
100 cars every day.

100 cars are made
every day.



The company made two
million cars last year.

Two million cars were
made last year.



They will make 3
million cars next year.

3 million cars will be
made next year.



The company has made half a
million cars this year.

Half a million cars has
been made this year.



The company is going to
make more cars next year.

More cars are going to be
made next year.



The company is making
more cars this year.

More cars are being
made this year.



The company was making
more cars in December.

More cars were being
made in December.



The company might make
more cars next year.

More cars might be
made next year.



This company can't
make cars any more.

Cars can't be made by
this company any more.



Five minutes with Richard
Branson

http://www.bbc.co.uk/news/busines
s-17401307/
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